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משוואות  טריגונומטריות
· פתירת  משוואה  מהסוג:+ bsinx.cosx + c.cos2x = 0   asin2x
· בכל  ביטוי  במשוואה  סכום  החזקות  הוא  2.  ויתכן  גם  קבוע.
משוואות

1. [image: image6.wmf][image: image7.wmf][image: image8.wmf][image: image9.wmf]2

1

_____

cosx

=+

[image: image10.wmf]sinx

____

cosx

=

[image: image11.wmf]sinx

____

cosx

=

[image: image12.wmf]2

1

_____

cosx

=+

[image: image13.wmf]sin2x + 3sinx.cosx + 2cos2x = 0 
___ + 3______ ______ + _____ = 0 



לו  cosx = 0  ___________________________________________
כיוון  ש  cosx ( 0 ,  נחלק  את  שני  האגפים  ב  __________
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נציב  לפי  הנוסחא:  ____ + _____ + 3____ + 1 = ____
נציב  t = tanx  (    המשוואה: = ____ t2 + _____ + ___    

t2 = _________                                         t1 = ______     לפי  ההצבה: _______t = 
tanx = ___                                               tanx = ____
x2 = ______ + ____                                  x1 = ______ + ____


2. 3sin2x - 4sinx.cosx + 5cos2x = 2 
___ - 4______ ______ + _____ = 2 
1 - ___ _____ ______ + 2______ = ___



לו  cosx = 0  ___________________________________________
כיוון  ש  cosx ( 0 ,  נחלק  את  שני  האגפים  ב  __________
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נציב  לפי  הנוסחא:  ____ + _____ - ____ ____ + 2 = ____
נציב  t = tanx  (    המשוואה:    = ____ t2 - __ ___ + ___    

t2 = _________                                         t1 = ______     לפי  ההצבה: _______t = 
tanx = ___                                               tanx = ____
x2 = ______ + ____                                  x1 = ______ + ____

תשובות:  1. 1350 + 1800k , 116.560 + 1800k      2.   450 + 1800k , 71.560 + 1800k
עבודה  נעימה
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sin2x + cos2x = ____
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סכום  החזקות  ___.





______  ______  ___.
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______  ______  ___.








sin2x + cos2x = ____








סכום  החזקות  ___.
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